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In the two sets given below, Set-1 provides the different levels of learning according to

Bloom's Taxonomy, while set-II gives their examples and concerns. Match the two sets and
select from the options to indicate your answer :

Set-1
(Levels of Learning)

(a) Memory level
(b) Understanding level
©) Analysing level
(d) Creating level
Options :

@ (O (c)
(1) a) @ (iii)
(2) (1) (i1) (111)
(3) av) () @
(4) @y Q) @)
Options:

64535067599, 1
64535067300, 2
E4E35067301. 3
EAE3506 7302, 4

@)
(11)
(111)
(v)

(d)

(iv)
@av)
(i)
(i)

Set-I1
(Examples)

Identifying examples of a given concept
Generating new ideas
Recalling information

Isolating information into parts
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535067599,

1
E4E35067300. 2
E4E35067301. 3
BAE35067302. 4

Question Number : 2 Question Id : 64635017284 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Diagnostic Evaluation ascertains

(1) Students performance at the beginning of instructions
(2) (Causes and remedies of persistent learning problems during instructions
(3) Degree of achievement of instructional objectives at the end

(4) Learning progress and failure after instructions

Options:

48350673903, 1
E4E35087304. 2
64535067305, 5
4535067906, 4
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Correct Marks: 2 Wrong Marks: 0



AT Yoar#A 9 ghfesa g 2.

()  @FayA = iy d it w5 Feae

(2)  FHAYA % gUF wAfer | fermE sEenEl F Sl S SHE gHrEE
(3)  SHEYAIR Iuafed i W

(@) YA % g At i st it e

Options:

64535067303, 1
64535067304, 2
E4E35087305. 2
E4E35087306. 4

Question Number : 3 Question Id : 64635017285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Among the following which one1s an example of instructional software?

(1) Audio podcast

(2) Printed material or book
(3) Radio talk

(4) Edusat

Options:

64535067207, 1
64535067308, 2
64535067309, =
E4E350873910. 4

Question Number : 3 Question Id : 64635017285 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535067307, 1
EAEZ50E7308. 2
E4BZ50E73059. 3



EAE35067310. 4

Question Number : 4 Question Id : 64635017286 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which teaching aids enhance the skills like reading, listening and pronunciation?

(1) Audio-lingual teaching aids (2) Scientific teaching aids
(3) (General knowledge teaching aids (4) Theoretical based teaching aids
Options:

EAE35067911. 1
EAE35067912. 2
645350673913, 3
645350673914, 4

Question Number : 4 Question Id : 64635017286 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535067911, 1
4535067312 2
E4E350673913. 3
EAE350673914. 4

Question Number : 5 Question Id : 64635017287 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below identify the instructional events which form part of the structure
of a lesson plan. Select your answer from the options given below the list

List of instructional events :

(1) Gainming attention of students

(11) Prior knowledge of students

(i11) Informing the learner of the objectives

(1v)  Stimulating recall of pre-requisite learning

(v) Checking the availability of reading material in the library.
(vi)  Eliciting the desired response

Options :

(1 @ ay )  av)
(2) @) @y vy )
(3) @ @@ W (vi)
4) @) ) @) @)
Options:

64535067315,
64535067316,
4835067917,
E4E3506791E.

[ N
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64635067915, 1
E4E35087316. 2
64535067317, 5
64535067918, 4

Question Number : 6 Question Id : 64635017288 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Think-aloud procedure is

(1) a part of secondary source of data
(2) a technique used to investigate learner strategies and performance
(3) a strategy of testing learners’ aptitude by providing primary sources

(4) a necessary method in scientific research

Options:

64535067919, 1
64535067320 2
E4E35087921. 2
E4E35087322. 4

Question Number : 6 Question Id : 64635017288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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64535067919, 1
E4E35087920. 2
E4E35087321. 2
4535067922, 4

Question Number : 7 Question Id : 64635017289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participant observation is a part of

(1) Philosophical research
(2) Mentalist Theory of language
(3) Mathematical research
(4) Ethnographic research

Options:

64635067923, 1
64535067324, 2
64535067325, 2
E4E35087 326 4

Question Number : 7 Question Id : 64635017289 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535067923, 1
E4E35087924. 2
E4E35087325 2
4535067926, 4

Question Number : 8 Question Id : 64635017290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Plagiarism in research is

(1) Creative use of previous data

(2) Copying unscrupulously and malking use of 1t

(3) Quoting someone and citing him/her

(4) Referring to previous data and working over it with new objectives

Options:

64535067927, 1
E4E35087 928, 2
E4E35087329. 2
4535067920, 4

Question Number : 8 Question Id : 64635017290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635067927, 1
64535067328, 2
64535067329, 2
4835087320 4

Question Number : 9 Question Id : 64635017291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university teacher plans to study the effect of level of aspiration of students in terms of
their socio-economic background on their scholastic performance at the term end evaluation
conducted by an external testing agency. What 1s the dependent variable in this study?

(1) Level of agpiration of students (2) Socio-economic backeround of students
(3) Scholastic performance of students (4) Term end evaluation
Options:



EAE35067921. 1
BAE35067932. 2
B4E35067933. 3
64535067924, 4

Question Number : 9 Question Id : 64635017291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

s favafaenem fims el sl oz woidt gro amifsa woma goarea | frnfifai & amfas- s
UEYH % Heed | forenefiEi o AR - s JHIE 3 iR Feaied 9 s e dl AT SATaT 2|
T AvEgA | ATHd = T 2?

(1) TermieEl & AR # (2) Terenidi=i i awiasE it gEw
@)  EenftEl w1 Saie Feaea (4)  TATT HeATHA
Options:

64535067931, 1
EABE35067932. 2
EAE35067933. 3
BAE35067924. 4

Question Number : 10 Question Id : 64635017292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Critical language testing 1n a research report 1s

(1) Testing language from an ethical point of view, revealing 1ts misuses
(2) Evaluating the stylistic characteristics of language

(3) Critiquing the ideology of the author

(4) Observing the gender role played by language

Options:

64635067935, 1
645350679336, 2
64535067337, 2
E4E350879328. 4

Question Number : 10 Question Id : 64635017292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35067935. 1
BAE35067936. 2
BAE35067337. 3
64535067328, 4

Sub-Section Number: 2
Sub-Section 1d: 646350830
Question Shuffling Allowed : Yes

Question Id : 64635017293 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

Unquestionably a literary life 18 for the most part an unhappy life, because if you have
genius, you must suffer the penalty of genius; and if you have only talent, there are so many
cares and worries incidental to the circumstances of men of letters, as to make life
exceedingly miserable. Besides the pangs of composition, and the continuous disappointment
which a true artist feels at his inability to reveal himself there is the ever-recurring
difficulty of gaining the public ear. Young writers are buoyved up by the hope and the belief
that they have only to throw that poem at the world's feet to get back in return the laurel-
crown; that they have only to push as a new light 1in hiterature. You can never convince a
voung author that the editors of magazines and the publishers of books are a practical body
of men, who are by no means frantically anxious about placing the best literature before the
pubiec. Nay, that for the most part they are mere brokers, who conduct their business on the
hardest lines of a profit and loss account. But supposing your book fairly launches, its perils
are only beginning. You have to run the gauntlet of the critics. When you are a little older,
vou will find that criticism i1s not much more serious than the bye-play of clowns in a circus,
when they beat around the ring, the victim with bladders stung at the end of long poles. A
time comes in the life of every author when he regards critics as comical rather than
formidable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the
pen forever.

Sub questions

Question Number : 11 Question Id : 64635017294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Literary life 1s unhappy because

(1) One has to carry the load of being a gemus while not being one
(2) The geniug can still remain a genius and be amidst misery in the face of adversity
(3) Talent brings pseudo happiness

(4) There 1= a constant desire to outshine others

Options:



EAE35067939. 1
BAE35067340. 2
B4E35067941. 3
4535067342, 4

Question Number : 12 Question Id : 64635017295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Young authors aspire to

(1) Equate themselves to the established authors
(2) Remain content in their work only
(3) Achieve glory by their merit yet always in a hurry

(4) Become critics subsequently
Options:
64635067943, 1
64635067944, 2
£48350687945. 3
64635067946, 4

Question Number : 13 Question Id : 64635017296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The perception towards the publishers and critics in the above passage 1s

(1) That of a scathing attack
(2) That of sympathy
(3) That of generosity

(4) That of cynicism

Options:

4635067947, 1
64535067948, 2
64535067349 =
64535067350 4

Question Number : 14 Question Id : 64635017297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Experience and age of an author

(1) Makes the author stoic to criticism
(2) Makes the author angry and lovely
(3) Turns the author to a buffoon

(4) Drives the author to cynicism

Options:

64635067951, 1
64535067352, 2
64535067353 2
4835087354 4

Question Number : 15 Question Id : 64635017298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The effective way of tackling criticism 1s

(1) To defend onesel f through print media
(2) To be vocal about one's craft
(3) To become a critic of one's own art and start analysing i1ts merit

(4) To be gracefully glued to the artistic exercise

Options:

4535067955 1
64535067956, 2
4535067357, o
64535067358, 4

Question Id : 64635017293 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635017294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Aifafcas® Sfied eyl 2id 2 Hifh:

(1)  <afea = 9w 9 2 g0 o F9H FH F1 A0 g24 FE1 IS 2|
(2) e safdd guira feufa 8 g0 % S ot e e ' g 2
@)  wfaar % afiomeasy @gH 2 30 2 2 |

(4) o9 wafFadl & «n Fee 6 i ae 2 2

Options:

64635067939, 1
E4E35087340. 2
64535067941, 5
4535067942, 4

Question Number : 12 Question Id : 64635017295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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48350673943, 1
64535067944, 2
64535067945 o
64535067346, 4

Question Number : 13 Question Id : 64635017296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E4E35067347. 1
E4E35067345. 2
EAE35067949. 3
EAE35067350. 4

Question Number : 14 Question Id : 64635017297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E350675951. 1

EAE3506 7952, 2
EAE35067953. 3
EAE35067954. 4

Question Number : 15 Question Id : 64635017298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4535067955 1

E4E3506 7956, 2
EAE35067957. 3
EAE350673958. 4

Sub-Section Number: 3
Sub-Section Id: 646350831
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635017299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are barriers to effective communication?
(a) Physical noise (b) Semantic noise
(c) Psychological noise (d) Non-semantic noise

Choosge the correct answer from the options given below

(1)  (a), (b) and (d)
@  (a), (b) and (¢)
3  (a), © and (d)
(4) (a) and (d) only

Options:

64535067359, 1
E4E35087 360, 2
E4E350873E1. 2
4535067962, 4

Question Number : 16 Question Id : 64635017299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64635067959, 1
64535067360, 2
64535067361, o
E4E35087 362 4

Question Number : 17 Question Id : 64635017300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Non-<content behaviours such as rate of speaking, loudness, tendency to interrupt and

pronunciation peculiarities’ are referred to as behaviour.
(1) Extra-personal (2) Animated

(3) Extra-linguistic (4) Involuntary
Options:

EAE350673963. 1
BAE35067364. 2
64535067365, 3
E453S067 366, 4

Question Number : 17 Question Id : 64635017300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE350673963. 1
BAE35067364. 2
B4E35067365. 3
E4E3506736E. 4

Question Number : 18 Question Id : 64635017301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, delayed feedback can happen due to

(1) Use of technology (2) Ezxpanded communication
(3) Semantic noise (4) Partiapatory environment
Options:

EAE3S0673EY. 1
EAE3I506 7968, 2
EAE35067969. 3
BAEZ5067370. 4

Question Number : 18 Question Id : 64635017301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE350673967Y. 1
BAE35067368. 2
E4535067369. 3
EAE3S067370. 4

Question Number : 19 Question Id : 64635017302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In analog communication, contents are considered to be

(1) Convergent (2) Static
(3) Physical (4) Ethereal
Options:

E4E350678971. 1
BAGRZIS0E7972. 2
BAE35067973. 3
BAE35067974. 4

Question Number : 19 Question Id : 64635017302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35067971. 1
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Question Number : 20 Question Id : 64635017303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

Set-l Set-11
(Communication elements) (Description of process part)
(a) BSender (1) Brain
(b) Receiver (11) Electro-magnetic impulses
) Message (1m)  The central nervous system
(d) Medium 1v) Sensory organs

Choose the correct answer from the options given below

@ (b (©) (d)

(1) @ (i) (i1) av)
(2) ) @ av) ()
(3) av) @ (11) (i11)
(4) @ Gv @ Q)
Options:
64535067375,
E4E3506737E,

EABZS0E 7277,
EAE3IS06 7978,

o LIRS

Question Number : 20 Question Id : 64635017303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



¢ gHfeTa i

gz - 1 gz - 11
(T3YT F aed) (seRH- 9T 1 faaa)
() HIUTH @) afEass
(b) =AIEH (i) AeraesFg e
(c) ®@ew (i) PR S T
(dy W (v) HaE
A=t e g frew # & adt 3w 9w

1 @-@, b -0), -0, d-av
@  (@-@), b)) -0, ©-av), d - @)
@) @-av), (b -Q), ) - @), (d) - (u)
@  (@-), ®)-av), ©-an), d -0

Options:

64535067975, 1

64535067376, 2

EAE350E737Y. 3
EABE3S0E797E. 4

Question Number : 21 Question Id : 64635017304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the missing term out of the given alternatives

TEF, UGH, , WKL
(1) CMN
2 UJ
3  VIJ
4  IJT
Options:

BAE350679759. 1
64535067350, 2



EAE35067981. 3
BAE35067382. 4

Question Number : 21 Question Id : 64635017304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e fou o fasen & faa wum 6 qfd Fifomg
TEF, UGH, , WKL
(1) CMN
@  UJI
3 VIJ
@ LJT
Options:

EAE350679739. 1
EAE35067980. 2
BAE35067381. 3
4535067352, 4

Question Number : 22 Question Id : 64635017305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of deviation taken from which of the descriptive statistical measure 1s always equal

to zero?

(1) Mean
(2) Median
(3) Mode

(4) Percentile
Options:
E4dE35087983. 1
435067954, 2
64635067985, 3
4635067956, 4

Question Number : 22 Question Id : 64635017305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fefafiaa § o fora auiTers aifisrdl om 8 fae o feem #1090 923 3 g 2

(1)  weHH

(2)  HEATFHAN
(3)  SEEEA
(4)  wIdE =H

Options:
E4E35067953. 1

EAEZ5067954. 2
EAE35067985. 3
BAE3506 7356, 4

Question Number : 23 Question Id : 64635017306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If x and ¥ are two positive numbers and x 1s 25% greater than », what 1s the value of the

ratio>?

X

(1) 0.75 (2) 0.80
(3) 1.20 @ 125

Options:

64535067387,
4835067388,
E4E35067389.
4535067990,

o IR

Question Number : 23 Question Id : 64635017306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A x o y T T T § N xy T 25% At 2@ 2w oHE B
x

L 075 (2) 0.80
@ 120 @ 195
Options:

BAE350673987. 1
E4E35067388. 2
64535067959, 3
E4E35067330. 4



Question Number : 24 Question Id : 64635017307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5% of the inhabitants of a village having died of malaria, a panice set in. During this, 20% of
the remaiming inhabitants left the village. The population is then reduced to 4750. Find the
number of original inhabitants

(1) 5000 2 5250
(3) 6250 (4) 7500
Options:

645350679391, 1
EAEZS0E 7932, 2
EAE35067993. 3
BAE35067954. 4

Question Number : 24 Question Id : 64635017307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

foredt i % 5% FanfiEi & AeifEr § 9 @9 % d1e QU W HAGAE g T 39h qRA 9 AETiEn 3 9
20% < M SEH FT Ol M e afmrasy ma fi AR gew 4750 @ T T F g
AftaniET f @ 2

(1) 5000 (2) 5250
(3) 6250 4 7500
Options:

645350679391, 1
E4E350E7932. 2
EAEZ5067993. 3
EAE35067994. 4

Question Number : 25 Question Id : 64635017308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the simple interest on a certain sum for 1 year 3 months at 8}2—% per annum exceeds the

simple interest on the same sum for 8 months at 7% % per annum by Rs. 45, then the sum is

(1) Rs. 600 (2) Rs. 800
(3) Rs. 6,000 (4) HKs. 8000
Options:

E4E35067955. 1
EAE35067996. 2
BAE35067957. 3
64535067935, 4

Question Number : 25 Question Id : 64635017308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gfe foreft g=rafsn @1 aramor sars 84%% dfdad fi 22 4 1 ad 3 AE H 3041 & gaul w 8 HER H 7%
yfqad 6t sl 2 & 45% & Al g sar &, a1 g8 s 2

(1) 600 %. (2) 800=.
(3)  6000%. 4) 8000&E.
Options:

64535067935, 1
EAE3506 7956, 2
EAE350673997. 3
BAE35067335. 4

Question Number : 26 Question Id : 64635017309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If proposition ‘All pens are not pencils’ i1s taken to be True then which of the following
propositions can be False?

(1) All pens are pencils (2) Some pencils are pens
(3) No pen 1s pencil (4) Some pens are pencils
Options:

E4535067999. 1
64535083000, 2
E4E35088001. 3
EAE3I506800Z. 4

Question Number : 26 Question Id : 64635017309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe a aeg ol W 9RGE Ad 2 F o 6 forn S q1 Fefafigd § 9 SR 9F e oEd 8@
Hﬁ'ﬁ’l%:

(1) ol e A 2 (2) T ufoe T 2|
@ w3 o I AR A 2 @) T U IR # |
Options:

B4E35067995. 1
E4535088000. 2
64535065001, 3
E4E53508300Z. 4

Question Number : 27 Question Id : 64635017310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises :
(1) All fans are tubes
(i1) Bulbs are not tubes

Conclusions :

(a) Fans are not bulbs
(b) All tubes are fans
(c) Fans are bulbs

(d) No tube 1s bulb

Select the correct answer from the options given below :

D (@, b)© (2) (a)and (d)
(3) () only 4 (D), () and (d)
Options:

645350638003, 1
64535085004, 2
E4EZ5088005. 3
EAEZ5068006. 4

Question Number : 27 Question Id : 64635017310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A & e aey feu o #, ToAm =m feed gra fRe g e snan al & Fefofaa 8 S8 g
Ferd &9 w9 O wiH fou S Had 27

A A ;o () ot T oo F )
(i) sl gl A4 2|

Elea] 1 (a) UM ded A 21
by =ft == 9g 2
© U ¥od 21
(d) = i ZE e A 2
A o e Frwet § & wd s afe
(1) (@, b)), © 2 (a) ()
@) ¥ (a) @ ), ) R’ (d
Options:

B4E535068003. 1
64535065004, 2
64535065005, 3
EAE3S0E800E6, 4



Question Number : 28 Question Id : 64635017311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When subject and predicate of both the premises 1s same but they differ only in quantity, it

18 known as

(1) Subaltern

(2) Contraries

(3) Subcontraries
(4) Contradictories

Options:

4535068007, 1
64535068008, 2
64535063009, 2
4835082010, 4

Question Number : 28 Question Id : 64635017311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sl GHI ATaR Al < 32T AT faum gae 2, foeq 3t aen B 2 91 g9l TR &9 d ST St 2

(1) T

2  foufia g

@  3u-foula wg

(4)  femarar
Options:

645350638007, 1
64535085008, 2
EAE35068003. 3
EAEZ5068010. 4

Question Number : 29 Question Id : 64635017312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the reasoning in the following argument :

Writing on paper 1s similar to writing on the board’.

(1) Deductive
(2) Hypothetical
(3) Analogical

(4) Inductive
Options:
E4E25085011. 1
C4C3506E012. 2
64635068013 2
646535068014 4

Question Number : 29 Question Id : 64635017312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Feffiad 9% # 9 $i vgam e e 7 g N2 waEd & wgu g |

(1) P
(2) g A
(3) G AT

(4) HATTHATHS
Options:
64535068011, 1
64635068012, 2
4235068013, 2
64535068014 4

Question Number : 30 Question Id : 64635017313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proposition ‘All leaves are green’ is equivalent to which of the following propositions?

(a) No leaves are green
(b) No leaves are non-green
(c) No leaves are in other color than green

(d) No green is leaf

Select the correct answer from the options given below :

(1) (b), (c) and (d)
(2 (a) and (b)
(3) (b) only

@  (b)and ()
Options:
4535062015, 1
4535068016, 2
64535068017, o
64535068018, 4

Question Number : 30 Question Id : 64635017313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a% ared | oadl afvn gftd 27 Refafia # 3 R ok e % oedged 2

(@ g il el 2l A 2

b)  FE o =i gfarfza A8 2

© @iz Wl uxht g % sy s a2
@ g ot g, ot A 2

5y o o, faerent 6 & T e A

O O, e W@
@ @O
@ ¥« (a)

@ (b R (o)

Options:
4535065015, 1

E4E3506801E. 2
EAE35068017. 3
EAE35068015. 4

Sub-Section Number: 4
Sub-Section Id: 646350832
Question Shuffling Allowed : Yes

Question Id : 64635017314 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



Consider the following table that shows the total number of tickets sold of five movies P, Q,

R, S and T, across two cinema houses A and B on a particular day. In accordance with the
table, answer the questions that follow (Question 31-35) :

Sale of Movie Tickets Cinema house wise
Cinema
Movies
A B
P 200 2300
Q 350 400
R 250 1510,
S 200 350
T 400 250

Sub questions

Question Number : 31 Question Id : 64635017315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The number of tickets sold of movie T' at Cinema house A 1s what percent of the number of
tickets of movie P sold at Cinema A?

(1) 220% (2) 200%
(3) 210% 4) 190%
Options:

E4E35068013. 1
BAE35088020. 2
645350658021, 3
E4E350E5022. 4

Question Number : 32 Question Id : 64635017316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the total number of tickets sold of movies @ and R together at both the Cinemas A

and B together?

(1) 1050
(2) 1200
(3) 1250
(4) 1350
Options:

EAE35068023. 1
EAE35068024. 2



EAE35068025. 3
EAEZS068026. 4

Question Number : 33 Question Id : 64635017317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the ratio of the number of tickets sold of movie P at Cinema B to the number of

tickets sold of movie @ at Cinema B?

(0 2:8
2) 314
B 1:2
(4) d:5
Options:
64535068027, 1
4835088028, 2
4535082029 2
64535068020, 4

Question Number : 34 Question Id : 64635017318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the difference between the total number of tickets sold of all movies together at
Cinema A and the total number of tickets sold of all movies together at Cinema B?

(1) 180 (2) 170
(3) 150 (4) 160
Options:

64535068021 1
64535068032, 2
E4535065803E. 3
EAEZS0E8024. 4

Question Number : 35 Question Id : 64635017319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average number of tickets sold at Cinema B for movies T and S together?

(1) 360 (2) 820
3 300 4) 840
Options:

E4E35088035. 1
EAE350E8036. 2
EAE3S068037. 3
E4E535068028. 4



Question Id : 64635017314 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

Fffiga arferer ot fa=m $ifse, S v f@em 7 w e - o i e - & d o= feedi-i ey,
An, v o1 & F BEwd fi o gen fi W auid 21 g9 aifde % aar wog@ e gl (vee g
31-35) % 3 difor:

formram feew-femal i sl
e ferraTeR
T Eil
ot 200 300
| 350 400
aw | 250 350
o 300 350
Gl 400 250

Sub questions

Question Number : 31 Question Id : 64635017315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frarEr-v @ fhen-& 6 owl f1 15 fewd 6 gem = yfdea FAaEr-v @ Gea-dt < &= o0
femral =i wwean 6t qoFT § foar an?

(1) 220 yidwd (2) 200 yfdvE
(3) 210 yiqwd 4) 190 yfes@
Options:

645350680149, 1
E4E35085020. 2
EAEZ50E8021. 3
EAEZS0EE022. 4

Question Number : 32 Question Id : 64635017316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aHl Frmmedi-u, S sfl %1 e & Fon-a9 i fhon-aar i fishl 1 78 fewel 1 e @ e 27

(1) 1050

(2) 1200

(3) 1250

(4) 1350
Options:

64535068023, 1
E4E35065024. 2
EAEZS0E8025. 3
EAEZS0EE02E. 4

Question Number : 33 Question Id : 64635017317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ot W feen-dt 6t fasht $t 78 el 6t g = wuE fRmmEe- v fFen-ay e Geft &
fesrdl 6 qaT | ferar 2:

R 2:3
@ 3:4
@ 1:2
@ 3:5
Options:

EAEZ5068027. 1
EAE35068028. 2
B4E35088025. 3
64535065020, 4

Question Number : 34 Question Id : 64635017318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

forre-v v g fyen w ot el i feht 6 13 el it wa den it Rearer-d o ga faen &
ot fecHi it fosht it 73 fewdl i v gen F e v feen 27

(1) 180 (@ 170
(3) 150 (4) 160
Options:

E4E35068021. 1
BAE35068032. 2
E4E535088033. 3



EAE35068034. 4

Question Number : 35 Question Id : 64635017319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forwre-sft ot fon-4t eiiv um $i e Ware skt $ 0 2w $1 sfoa gen feadf 22

1) 360 (2) 320
(3) 300 (4) 340
Options:

64535068035, 1
64535068036, 2
EABE3S0EE03Y. 3
EAE3506803E. 4

Sub-Section Number: 5
Sub-Section I1d: 646350833
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635017320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statement(s) is/are True in respect to ICT?
| i ICT is an acronym that stands for information and competitive technology.

Q : The effective use of ICT to support learning in the inclusive education exemplifies
good teaching for all learners.

(1) Ponly (2) Q only
(3) Both P and Q (4) Neither P nor @
Options:

E4E35068029. 1
64535088040, 2
64535065041, 3
E4E3506504Z. 4

Question Number : 36 Question Id : 64635017320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFrefafiaa 4 @ #a /w8 w9 g @ & % o d w12 2/77

P®) . A e uiEd 2, R aerd FeReE Ut st e (e vE giaer et
T 21
@ gurasi e § 2t sadR % fau 2 O & 1 avrdt soe ol SendiE F oo v a=s
ST %71 32E 2 |
1) % (P) (2 e Q)
@ (@) =@ aF 4) Fd @) HATd Q)
Options:
C4E2E088029. 1
C4E2E085040. 2
L4dE2E068041. 2
C4EZEOERO42. 4

Question Number : 37 Question Id : 64635017321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 18 spyware 1in respect of computer software?

(1) Software that aims to gather information about a person without his'her knowledge,
and that may send such information to another entity

(2) Legitimate software that allows companies to monitor and supervise the computers of
their employees from a central location

(3) Software used to disrupt computer operation or gain access to private computer
systems

(4) A computer program hidden within another seemingly harmless program that
produces copies of itself and inserts them into another programs or files

Options:

4535065043 1
64535068044, 2
64535068045, =
64535068046, 4

Question Number : 37 Question Id : 64635017321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



YR HTF2AAE & e U TIrEagy 491 27

(1) &2 "iwee, o1 3299 U <Afad < 9i 8 30ehl STHA % 91 G=@1 U 1 2 @l 88 39

e ol g1 A FeRE 9 w2 |

(2) @2 a9 divedw, Al B9l #l Uk b ud 9 3k wHaiiEl & el o Faea i gut
e &l 2 |

(3) a8 G, e weg % uferen ® fGges w6 @ B weer yonelt 9% 9gw 9n % fog
39 foa S 2 |

@)  UF @ g amed g & arfd few o were sium, st s gfafaftien sam 2
AN T WU AT FEeH H Oy =T 2 |
Options:
64635088043,
64635068044,
64635068045.
64635088046

o IR

Question Number : 38 Question Id : 64635017322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following best describes a wiki?

(1) A system that allows users to add information onto a website but does not change
any pre-existing information

(2) A system that allows collaborative modification of 1its content and structure directly
from the web browser

(3) A system that serves as a publically accessible personal journal for an individual
(4) A system that monitors the modification of content within a blog

Options:

45350680471

C4EZE0ERO4E. 2

E4E35088048. 3
E4E35068050. 4

Question Number : 38 Question Id : 64635017322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFefafaa 5 9 =9 fadh (Wiki) =1 399 e 2ar 2:

(1) & yonell, St ITERTRAlA] 1 Uh JaEEe 9 gl Sied adt 2, <ifee g | e e ot gemn
= fafda w3 81 &t |

(2) Ok qolel, S Gead ©9 3 e Ao A A% [Avaa o TRV IR araie B erat ot 2
(3) U 9UIel, S A & 8 A v safdana e & w1 1@ e wdt 2
4) U wunelt, St U sArT F oia Areied & FIRE S 2

Options:



EAE35068047. 1
64535068048, 2
E4E535068045. 3
64535065050, 4

Question Number : 39 Question Id : 64635017323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Anjali's teacher uses VLE, a software tool designed to deliver courses online. The acronym
VLE stands for

(1) Video Learning Environment
(2) Visual Learning Environment
(3) Virtual Learning Environment

(4) Visual Local Environment
Options:
645350638051, 1
64535063052, 2
435068053, 2
64535063054, 4

Question Number : 39 Question Id : 64635017323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wetel! 1 s SAeng TreE=dl WH i F fore dun fR e v atveds 3uer U § 3w
F1 2 | 21 ufiaef & vet § @ 9 9 2

(1) @i aFHn s
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Options:

64535068051, 1
4835088052, 2
E4E35088052. 2
64535068054, 4

Question Number : 40 Question Id : 64635017324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the decimal equivalent of binary number 11001107

1 102
@ 204
3 153
@ 5l
Options:

645350838055, 1
E4EZ5068056. 2
EAE35068057. 3
E4E35068058. 4

Question Number : 40 Question Id : 64635017324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fg-=rha 1100110 =1 T9geH G¥HeTd FHT 27

1 102
@ 204
@ 153
@ 51
Options:

645350838055, 1
E4EZ5068056. 2
EAE35068057. 3
E4E35068058. 4

Question Number : 41 Question Id : 64635017325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which are the examples of potential kinetic energy? Select your answer from the options
given below :

1) Water that 1s beluind a dam

(11) Radio signals

(i11)  An airplane idling on the runway
av) A satellite before it 1s launched
() A colled spring

(vi)  Heat harnessed from the oceans
Options :

(1) @, ), av) and (V)
(2) @, @), (1) and (v1)
(3) (@), Gum), Gv) and (v)

(4) (@), @v), (v) and (v)

Options:

64535068059,
64535063060,
4835063061,
4535063062,

o P

Question Number : 41 Question Id : 64635017325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835063059, 1
E4E3508E0E0. 2
64535068061, o
4535068062, 4

Question Number : 42 Question Id : 64635017326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Statement I : The Millennium Development Goals were adopted in the United Nations in
the year 2010

Statement II : Developing a global partnership for development was one of the Millennium
Development Goals.

Which of the above statements 1s/are correct?

(1) Only I

(2) Only IT

(3) Both I and II
(4) Neither I nor IT

Options:
646350638063, 1
4835082064, 2



EAE3S0680E5. 3
EAEZS06806E. 4

Question Number : 42 Question Id : 64635017326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E350650E63. 1

EAEZS0E8064, 2
EAE35068065. 3
EAEZS06806E. 4

Question Number : 43 Question Id : 64635017327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following conferences/summit 1s also known as UN Conference on

Sustainable Development (UNCSD)?

(1) The Stockholm Conference, 1972
2) The Rio de Janerio Conference, 1992
(3) The Johannesburg Summit, 2002

(4) The Rio + 20 Conference, 2012
Options:
EAEZE08E087. 1
4035068068, 2
4635068069, 2
64635068070, 4

Question Number : 43 Question Id : 64635017327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  &iwEm T, 1972

@  frear & sefien adie, 1992
(8)  SirEwgsri fraw o, 2002
(4  f=l +20 g9er, 2012

Options:

64535068067, 1
64535068068, 2
E4E3508E069. 2
E4E35082070. 4

Question Number : 44 Question Id : 64635017328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the formation of surface Ozone, which of the following do play an important role?

(a) Oxides of mtrogen
(b) Oxides of sulphur
(c) Sunlight

() Carbon monoxide

Choose the correct answer from the code given below :

1) (&, b)), ©
@ (b)) @D
@ @ 0 @
@ (@), b) @

Options:

64635063071, 1
E4E3S08E072. 2
64535068072, 5
4535068074, 4

Question Number : 44 Question Id : 64635017328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535068071, 1
E4E3508E072. 2
E4E3508E072. 2
64535065074, 4

Question Number : 45 Question Id : 64635017329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following belongs to the category of geophysical hazards?

(1) Infestation (2) Avalanches
(3) Invasive species (4) Diseases
Options:

64535068075, 1
EAE3S0EE07E. 2
EAEZIS0EE077. 3
EAE35068078. 4

Question Number : 45 Question Id : 64635017329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1)  mE (2) femam
(3) ATHMEF ST (4) st
Options:

E4EZ50E8075. 1
EABZE0EE07E. 2



EAEZIS0EE077. 3
EAE35068078. 4

Question Number : 46 Question Id : 64635017330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GIAN (Global Imitiative of Academic Networks) has been launched by Government of India
1n order to

(1) Encourage Indian Scholars to learn abroad
(2) Discourage Indian Scholars from researching in India
(3) Encourage global scholars engage with their counter parts in India

(4) Encourage global scholars to engage with Indian Scholars abroad

Options:

64535068079, 1
64535068080, 2
6453506380381, 2
4835082022, 4

Question Number : 46 Question Id : 64635017330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35065079. 1
64535068080, 2
64535068081, o
64535068082, 4

Question Number : 47 Question Id : 64635017331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following forms a necessary component of Conventional Education System
in India?

(1) Learming from books (2) Learning from the teacher
(3) Learning from thinlking (4) Learning through instructional material
Options:

E4E350680E83. 1



EAE35068054. 2
E4E535068085. 3
EAE35088056. 4

Question Number : 47 Question Id : 64635017331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) gl ° HigA (2) o= o dign
@)  faaT | " (4) SFeTETHS Gl & wreEm o e
Options:

E4535088052. 1
EAEZ5088054. 2
E4E35068085. 3
EAE35068056. 4

Question Number : 48 Question Id : 64635017332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following five year plans of India has e1ven special emphasis on “Education
and Manpower”?

(1) Third Five Year Plan (2) Fourth Five Year Plan
(3) Second Five Year Plan (4) Fifth Five Year Plan
Options:

E453S068057. 1
64535068088, 2
EAE3S0E8089. 3
EAE35068030. 4

Question Number : 48 Question Id : 64635017332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  derd geadia e (2) el gl A
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Options:

BAE35068057. 1
E4E35088088. 2
64535068059, 3
64535083030, 4



Question Number : 49 Question Id : 64635017333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Brain drain problem which was dominant in the muddle of 20t Century in India 1s indicative
of which one of the following aspects?

1)  Lack of adequate facilities for advanced study and research in India

1) The capacity of the developed nations to buy the talent at a price beyond the means of
the developing nations

(111) Increase of population and under utilization of human research
Choose the correct option from below

(1) Only (1) and (111)
(2) Only (i) and (iii)
(3) Only (ii1)

(4) Only (1) and (1)

Options:

45350638091, 1
64535068092, 2
64535068093, =
64535063094, 4

Question Number : 49 Question Id : 64635017333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350680391, 1
E4E53508503z2. 2
E4EZ5088033. 3
EAE350680394. 4



Question Number : 50 Question Id : 64635017334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The premier organisation established 1n India to deal with capacity bullding and research in
planning and management of education in India and South Asia is

(1) ATU (2) SAARC University
(3) NUEPA (4) Nalanda Unmversity
Options:

645350638035, 1
EAE3506803E. 2
EAE3S068037. 3
E4E350680398. 4

Question Number : 50 Question Id : 64635017334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) uaE.g, (2) ar% gRafdd (SAARC University)
(3 w.gidu, (@) Awe fafvaenea
Options:

64535068035, 1
64535068036, 2
E4E535085037. 3
EAEZS088035. 4
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Number of Questions: 25

Number of Questionsto be attempted: 25

Section Marks: 50

Display Number Panel: Yes

Group All Questions: No
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635017335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Atisukshma, Sukshma, Pushta, Apushta and Kritrim are the types of
(1) Shruti

(2) Naad

(3 Gamak

(4) Sthaya
Options:

6453508380399, 1
E4E35088100. 2
E4E35068101. 3
E4E3506810%2. 4

Question Number : 51 Question Id : 64635017335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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o gfa
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Options:

E4E350880943. 1
E4E35068100. 2
645350658101, =
64535065102, 4

Question Number : 52 Question Id : 64635017336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Bharata has classified Avanaddha Vadvas into how many categories?

(1) Two
(2) Three
(3 Four
(4) Five
Options:

64535068103, 1
64535065104, 2
64535085105, 3
EAEZ5088106. 4

Question Number : 52 Question Id : 64635017336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35068103. 1
E4E35068104. 2
E4E35068105. 3
E4E35068106. 4

Question Number : 53 Question Id : 64635017337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Jhap taal of Hindustan music is equivalent to which taal of Karnatak Music?
(1) Misra Chapu
(2) Misra Jhampa
(2) Khanda Mathya
(4) Tisra Dhruva

Options:

4835068107, 1
E4E35088108. 2
64535068109, 5
64535068110 4

Question Number : 53 Question Id : 64635017337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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@ v ga
Options:

EAE35068107. 1
E4E35068108. 2
B4535068105. 3
64535065110, 4

Question Number : 54 Question Id : 64635017338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The pitch of sound depends on the frequency. Select the correct option:
(1) High frequency — proporticnate ascending sound
(2) Low frequency — propartionate descending sound
(3) Low frequency — proportionate ascending sound
(1) Low frequency — maximal ascending sound
Options:
64635068111, 1
645350638112, 2
E4E35065113 3
64535065114, 4

Question Number : 54 Question Id : 64635017338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64635068111, 1
64635068112, 2

E4E35068113. 3
EAE350658114. 4

Question Number : 55 Question Id : 64635017339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The term “meend” of Hindustani music is equivalent to which term in Karnatak music
(1) Jaru
(2)  Kampita
(3) Ullasita
{4) Tiripa
Options:
64635068115, 1
EdE3508E116. 2
E4EZE08E117. 2
64535068118, 4

Question Number : 55 Question Id : 64635017339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(2 o

(3)  Seolitd

@ TiRg
Options:

645350658115, 1
E4E35068116. 2
E4E35068117. 3
E4E53506581158. 4

Question Number : 56 Question Id : 64635017340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ehali of Hindustani music is equivalent to which term in Karnatak music?
(1) Visranti
(2) Viramam
(3) Visarjitha
{4) Aramam

Options:

64635068119, 1

E4E3506E120. 2

64535065121, 5

4535068122, 4

Question Number : 56 Question Id : 64635017340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 faenfa

@  faRrm
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(4) AREA
Options:

645350658119, 1
64535068120, 2
45350658121, 3
EAE3I5068122. 4

Question Number : 57 Question Id : 64635017341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to ‘Akarmatrik Swaralipi System’, the sign of repetition is hke

@ [
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Options:

E4E35068123. 1
BAE35068124. 2
645350658125, 3
4535068126, 4

Question Number : 57 Question Id : 64635017341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35068123. 1
64535068124, 2
645350658125 3
4535065126, 4

Question Number : 58 Question Id : 64635017342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Corresponding Mela of Marwa That’ 1s
(1) Gamanasrama
(2) Kamavardhini
(3) Mechakalyami
(4) Kharaharapriva

Options:

64635068127, 1
64535068128, 2
64535068129 2
64535063130 4

Question Number : 58 Question Id : 64635017342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535068127, 1
E4E5350858128. 2
E4EZ5088129. 3
E4E35068130. 4

Question Number : 59 Question Id : 64635017343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is Shruti Jati?

(1) Rava

(2) Karuna

(3) Jaru

() Tiripa
Options:

E4E35088131. 1
64535068132, 2
645350658133, 3
64535065134, 4

Question Number : 59 Question Id : 64635017343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35068121. 1
E4E35068132. 2
E4535068133. 3
64535065124, 4

Question Number : 60 Question Id : 64635017344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In musie, VARNA can be classified into how many types?

(1) Three
(2) Two
(3) Four
(4 Six
Options:

E4E35068135. 1
E4E35068136. 2
E4E535088137. 3
64535065138, 4

Question Number : 60 Question Id : 64635017344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1 &
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Options:

B4E535068135. 1
64535068136, 2
64535068137, 3
64535065138, 4

Question Number : 61 Question Id : 64635017345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Kedlattam is a popular folk form of
(1) Kerala
(2) Andhrapradesh
(3 Tamilnadu
(4) Karnataka
Options:
EdE350851359. 1
4235063140, 2
64535068141, 3
4635068142 4

Question Number : 61 Question Id : 64635017345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535068139, 1
48350838140 2
4535082141, =2
64535065142, 4

Question Number : 62 Question Id : 64635017346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Allah Jilai Bai, a folk singer belongz to which of the following states?
(1) Madhya Pradesh
) Uttar Pradesh
(3) Rajasthan
(4) West Bengal
Options:
40250651432 1
4635068144 2
4535068145 2
645350658146, 4

Question Number : 62 Question Id : 64635017346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

eorre foreng 91g b uer &) ate e & ?
1)  HeAYII
(@)  IeRgeer
@) ToTeRIT
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Options:
64635068143, 1
64635068144, 2
64635068145, 3
64635065146, 4

Question Number : 63 Question Id : 64635017347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Avanddha vadya used in folk music is :
(1) Damama

(2) Tasali

{2) Shramandak

{4) Algaja
Options:

EAE35068147. 1
6453506581458, 2
645350658145, 3
64535065150, 4



Question Number : 63 Question Id : 64635017347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350658147, 1
645350651458, 2
E4E35088148. 3
E4E35068150. 4

Question Number : 64 Question Id : 64635017348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Folk song of Punjab — ‘Heer’ is based on KHaga :
(1) Mand
(2) Khamaj
(3) Bhairawvi
() Bhairava

Options:

64635068151, 1

E4E35065152 2

64535065152, 5

64535065154, 4

Question Number : 64 Question Id : 64635017348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535068151, 1
645350658152, 2
64535065152, 3
EAEZ5068154. 4

Question Number : 65 Question Id : 64635017349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tal prominently used in folk music is :
(1) Shikhar Taal

(2) Ekwai

(3) EKaharawa

() Jhaptal
Options:

64535068155, 1
645350658156, 2
64535085157, 3
E4EZ506815E. 4

Question Number : 65 Question Id : 64635017349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350658155, 1
64535065156, 2
E4EZ5088157. 3
E4E35068158. 4

Question Number : 66 Question Id : 64635017350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following Arts is not included in the 64 Arts given by Vatsvayvana?
@)  Alekhya

(II) Sutrakrida

(II) Takshana

(IV) Prahelika

Choose the carrect option

1 @, d, dn

@  dn, 4, av)

@ @O, an, dn, av

@ @, dp, av



Options:

64535068159, 1
E4E3508E160. 2
4535088161, 2
64535068162, 4

Question Number : 66 Question Id : 64635017350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635068159, 1
4535068160, 2
64535068161, =
645350638162, 4

Question Number : 67 Question Id : 64635017351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I and List-II on the basis of the scholars and the corresponding concepts

propounded by them

List-I List-I1
(a) Bhatt Lollat (I) Bhuktiwad
(b) Bhatt Shankuk (II) Abhivyaktiwad
) Bhatt Nayak (III) Anurmitiwad
(d) Abhinav Gupt (IV) Utpattiwad

Choose the correct option :
1) (@)—(1); b)-1IL); (c)-1V); (d)—1II)
(2) (@)—(IL); (b)—(D); (c)—(11D); (d)-dV)
(3) (@)=(ILI); (b)=(IV); (e)=1); (d)—(II)

(4) (a)=(IV); (b)-{ID); (c)—{); (d)—(I)
Options:
64635068163
£4635068164.
£4535088165.
F4635068166.

[ N Y

Question Number : 67 Question Id : 64635017351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A1 3l A+ fag vd s9@ gR wnfa Mgl @ | gifaa sifeg:

gAlI A1
@ Wg dlede @ fdars
b) HE AR an srfeafeaare
© ¥g TE® @y srgffare
@  fEa T av) SafmErs
udl 9w g

(1) (a)—(0); (b)—1); (©)—(IV); (d)-dID)
@ (a)-(1); B)-{); ©—I1D); (d)-AV)
(3) (a)—~(III); (b)—(AV); (©)~(D); (d)-dD)
(4) (a)—~(IV); (b)—(II); (c)—(D); (d)-(D)

Options:
64635068163, 1
4835088164, 2



EAE35068165. 3
EAE35068166. 4

Question Number : 68 Question Id : 64635017352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Musical instruments are witnessed in which art?
(1) Sculpture

(&) Poetry

(2 Drama

{4) Dance
Options:

E4E350681E7Y. 1
EAE3506816E. 2
E4E3506816%9. 3
B4E535088170. 4

Question Number : 68 Question Id : 64635017352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

wififas aren &1 foa sar 9 3@ wan 27
1y iiwer

(2) Lo

(3) A

@ A
Options:

E4EZ50E81E67Y. 1
E4E35068168. 2
E4E53506816%5. 3
64535065170, 4

Question Number : 69 Question Id : 64635017353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many Sanchari Bhavas have been mentioned by Bharata?

(1) 22
(2) 33
(3 12
4 8
Options:

E4E35068171. 1
EAE35068172. 2
E4E35068173. 3
64535065174, 4

Question Number : 69 Question Id : 64635017353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A¥d A feaq S 9mEr $1 Sea@ faar & ?

(1) 22
(2) 33
(3) 12
(4) 8
Options:

64535068171, 1
EAE3S0E8172. 2
EAE35068173. 3
EAE35068174. 4

Question Number : 70 Question Id : 64635017354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which ‘lava’ has been prescribed by Bharata for Krodh' and RHaudra' Rasa™?
(1) Vilambit
(2) At Vilambat
(2) Madhya
(4) Druta

Options:

64535068175,
645350638176,
E4E35068177.
4535063173,

o P

Question Number : 70 Question Id : 64635017354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"®Hig” vd WeT v @ fov ava 3 59 99" &1 9w fear 2 ?

1 faeifaq
@  afg [dfea
(2) HEY
@ wd
Options:

64535068175, 1
EAE3506817E. 2
EAE35068177. 3
E4E35068178. 4

Question Number : 71 Question Id : 64635017355 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



In research which is not a tool for primary data collection?

(1) Observation
(2) Questionnaire
(3) Interview

@)  Text Books

Options:

64635068179, 1
4835088120, 2
45350651581, 5
64535068182, 4

Question Number : 71 Question Id : 64635017355 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g F wrafiie arEl dedd o1 Surer oIl A8l &7

(1)  TaATHA

(2)  UEATa!

@)  IEThIY

(4  UEE TS

Options:

64635068179, 1
64535068180, 2
64535068181, =
48350881382 4

Question Number : 72 Question Id : 64635017356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In report writing, concepts are authenticated by :
(1) Foot Notes

(2) Index

(3 Introduction

(4) Preface

Options:
64535068183, 1
4835088134, 2

E4B250E8185. 3



EAE35068186. 4

Question Number : 72 Question Id : 64635017356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Rurd d@a A smuarenan «1 aftmaoE F=fafaa 4 9 feea fear wmer € ?

1 urg feoof

2 g artTE

@ A

@ e
Options:

B4E535068183. 1
64535065184, 2
645350658185, 3
4535065186, 4

Question Number : 73 Question Id : 64635017357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following elements are required in the preparation of Bibliography?
(L) MName of the Author

(II)  Year of Publication

(III) Title of the book

IV) Name of the Publisher

Choose the correct option

(1) (@, dD), dI)

(2 (D, dD, avy

@ @O dh, av)

(4) (@), (D), dII), dv)

Options:
E4E35065157. 1

E4E3506818E. 2
EAE35068189. 3
E4E35068130. 4



Question Number : 73 Question Id : 64635017357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Hed vy gfl dur s A FfealRaa 4 9@ fea aql #) snavgear &id 2
O AEP BT TH
II) U&TI a9
1) gEas &1 WS

AV) UDTAS BT A
wEl fawen iy :

(@, d, dI)
@ @, d), dv)
@ @ aD, av)
@ @ dD, dn, av

Options:

4835068187, 1
E4E3E08E188. 2
64535068189, o
64535068190 4

Question Number : 74 Question Id : 64635017358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Research Plan is given in :

(1) Bibliography
(2) Synopsis

(3 Appendix

) Foot Note

Options:

64535068191, 1
4835088192, 2
4535082192 2
64535065194, 4

Question Number : 74 Question Id : 64635017358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



oite glerEm few A <) ol 27

(1) wed wor

(2) eyl

@ ufRfEse

@)  ure fewofy
Options:

E4E35068191. 1
B4E5350681382. 2
645350651393, 3
645350651394, 4

Question Number : 75 Question Id : 64635017359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Shodh Gangotri is ¢

(1) A compendium of Hesearch Synopses
(2) A compilation of Hesearch Papers
(3) A compilation of Thesis

{4) A prospectus of Indian Journals

Options:

64635068195, 1
64535068196, 2
64535063197, 2
4835088198 4

Question Number : 75 Question Id : 64635017359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g e @ —

(1) g wiiRasel &1 Hiy

@ oY uFl & HIE

3) oY ga=El &I by

@  wRdEa afFern @1 A Rrer

Options:

64535068195, 1
64535068196, 2
64535068197, 2



EAE350681395. 4

PART III Percussion [nstrurments

Section Id : 646350386

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 67

Number of Questionsto be attempted: 67

Section Marks: 150

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 646350835
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 64635017360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is a tvpe of Alapini?
1. Veena
2. Gayan
i Mritva
4. Sushir Vadva
Options:
64635068199, 1
435065200, 2

E4E35088201. 3
EAE3S068202. 4

Question Number : 76 Question Id : 64635017360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Erofinfem 8 9 ¥ o avenfteh = o v 7

1. dm

2 T

i T

4.  giRwm

Options:
E4E350651499. 1

E4E35088200. 2
EAE35068201. 3
EAE35068202. 4



Question Number : 77 Question Id : 64635017361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Cme avartan kuadi each of Jaital and Pashro tal will fit in one avaman of which of the
following talas?

1. Choutal

2 Shikhar

3. BadiSawan

+ Sultal
Options:

B4E535068203. 1
64535068204, 2
64535085205, 3
EABE3S0E820E6. 4

Question Number : 77 Question Id : 64635017361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T YT U A = U A Sl e o S e 3 i

1 T

R

3 wdiwmd

4. Toam
Options:

64535068203, 1
64535068204, 2
E4E35088205. 3
EAE35068206. 4

Question Number : 78 Question Id : 64635017362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

After which of the following matras, one Avartan of Add Laya theka of Jat Taal will
start in the same Taal?

. &=
3

3

i | ek [

| s

Options:

46350638207, 1
64535068208, 2
64535068209, =
64535068210, 4

Question Number : 78 Question Id : 64635017362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

T AT EE T IS T P U e Fw A A e a3 ve wrid g
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ek | Ly el | Rak

Options:

64535068207, 1
64535068208, 2
64535068209, =
4835088210, 4

Question Number : 79 Question Id : 64635017363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Chhand Shastra, the Vama which has “anuswar”, would be

1 Laghu-Laghu

2. Gum-Laghu

3 Gurg

4 Laghu
Options:

E4E35088211. 1
EAE35068212. 2
E4E35068213. 3
45350658214, 4

Question Number : 79 Question Id : 64635017363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T W F AR IR v

1. g

2. T

L

4. ™
Options:

E4E35068211. 1
BAE35068212. 2
64535068213, 3
4535068214, 4

Question Number : 80 Question Id : 64635017364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The name of the book written by Goswami Pannalal in 1895 is
1. NadVined
2. MadVilas
5. Nad Naman
4. Vadya Vivek Vilas
Options:
645350632151
64E35068216. 2
45350658217, 3
645350638218 4

Question Number : 80 Question Id : 64635017364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
[ 1595 H wirem owmm an dy S Aw e

1 1= firty

2 =i

i TEE

4. TR
Options:

64535068215, 1
B4E35068216. 2
64535068217, 3
45350658215, 4

Question Number : 81 Question Id : 64635017365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List=I with List=I1

List-I Lise-II
(Authers) (Boaks)
(a) Dr. Subhadra Chowdhar (i) Bhaniyva Talon Ka Shasiriya
Vivechan
&) Dr. Amun Kumar Sen (i) Tal Prasoon
(¢} Dr. Lalmani Mishra (til) Bhamiva Sangeet Me tal aur
Roop Vidhan
{d) Pr.Chhote Lal Mishra {iv) Bhariva Sangeet Vadya

Select the comect answer from the options given below
L ()G (-G (eivD; (d)-ED
1 (a)eG); (b)) (e)=vy: (d)=()
()G, (-G, (e (-0
4. (a(v); (b(n); (e (d-()

Options:
E4E35065219. 1

EAE3S0E8220. 2
EAE35068221. 3
BABZS0EE222. 4



Question Number : 81 Question Id : 64635017365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 11 S R R

-1 -1
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fird
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dy o widemm vy vt e T

i fn m faeet A Tft o = Toe S
L ()i (b)) (e-(vk (d)-Gi)
2, (i) ) (v (d-E)
3. (a=(id; (b)=(id); (el=(v); (d)=()

4, vy (B (D (A

Options:
E4E35065219. 1

EAE3S0E8220. 2
EAE35068221. 3
EABZS0EE222. 4

Question Number : 82 Question Id : 64635017366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The smallest unit of Marra relates 1o

1. Anu Drat
2 Gum
3 Drrut

4. Laghu Drotam

Options:

64535068223, 1
E4E3508E224. 2
E4E35088225. 2
4535068226, 4

Question Number : 82 Question Id : 64635017366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et g wn ey

1L wqEEd

2. T4

i gad

4. THEERA
Options:

EAEZS0E8223. 1
EAE35068224. 2



EAE3S068225. 3
BAEZS0EE226. 4

Question Number : 83 Question Id : 64635017367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following places the names of 1abla maestros in the right ascending order
of their binh yvears

1 Muneer Khan, Abid Hussain Khan, Kanthe Maharaj, Ahmed Jan Thirakava
2. Muneer khan, Ranthe Maharaj, Ahmed Jan Thirakava, Abid Hussain Khan
3. Ahmad Jan Thirakava, Muneer Khan, FKanthe Maharsj, Abid Hussain Khan
4 Abid Hussain Khan, Kanthe Maharaj, Ahmed Jan Thirakava, Muneer Khan

Options:

E4E535068227. 1

EdBZE0EEZ228. 2

EAE3S0E8229. 3

EAE35068230. 4

Question Number : 83 Question Id : 64635017367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T AEE T TS TR0 F HER AR Ew A fafam)
1. i snfte géw o &% mwme, spe o firem
2 i &% weRre, HEeE e feen, afeg el
3. EEE T U, R L 8 AR, HiEE gee
4. oty g e R, ange e e, it

Options:

4535068227, 1
64535068228, 2
645350638229, 2
4835088220 4

Question Number : 84 Question Id : 64635017368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following vocalists had started the tradition of singing Ad Vilambir
Thoomra in khaval gavan stvle?

1. Ut BadeGulam Ali Khan

2, Ut Faiyaz Khan

3. Ut Amir Khan

4. Ut Rajab Ali Khan
Options:
6453506382311
EAR3E06R222. 2
E4E535083823E. 3
6435063234, 4

Question Number : 84 Question Id : 64635017368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

e T el A sl g d T # o fee s aRw

1. = =i andtat

2. 3 el
3.y =

4. I TmahE

Options:

4635068251, 1
64535068232, 2
64535068233 2
64535068234, 4

Question Number : 85 Question Id : 64635017369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

After which of the following matras, one Avartan of Add Lava of theka of Basant will
start in the jame Taal?

T

2 3

LPEY B

6
4§ 3
Options:
B4B35083235. 1
E4EZ50B8236. 2
EABZ50BE237. 3
EAG350682308. 4

Question Number : 85 Question Id : 64635017369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TG AT F T B H1G T F0E WA TH A A e A S e s e
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Options:

64635068235, 1
E4E3S08E236. 2
64535068237, 5
4535068228, 4

Question Number : 86 Question Id : 64635017370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The verm Adeshi is used as another name of which of the following compositions by
some scholars?

1. Kamali
2. Fanmaesshi
3. Sadharan Chalzadar
4. Chakradyr Tihgee
Options:
64535063239, 1
64G35063240. 2
E4AE3E068241 . =

EAEZS0EE242. 4

Question Number : 86 Question Id : 64635017370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
77e g el = w1 W fis e & e F wu d e i
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4. e e

Options:

64535068239, 1
64535063240, 2
4835088241, 2
64535065242, 4

Question Number : 87 Question Id : 64635017371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Chhand Panch Chasmar is related 1o ©

1. Dadraal

2. Tl

3 JThapual

4.  Roopaktal
Options:
EAG35068245.
EAG35068244.
E4B35063245.
4535063246,

[ N

Question Number : 87 Question Id : 64635017371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ereccianba ki
1. IEnamd
2. rmd
3. wwmd

4. TUEAWa

Options:



EAE35068243. 1
EAE35068244. 2
B4E535068245. 3
4535065246, 4

Question Number : 88 Question Id : 64635017372 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The count of matras of Demi Semi Qruaver note is

Options:

64535068247, 1
E4E3508E24E8. 2
4535088249 2
64535068250, 4

Question Number : 88 Question Id : 64635017372 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
22 dnft e e F R

1 e

Options:

64535068247, 1
E4E3508E24E8. 2
4535088249 2
64535068250, 4

Question Number : 89 Question Id : 64635017373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Aad of Dadarg and Jhaptal will begin after which mgtra in one gvartan of Badi
Sawari?

b

1 L=

(]

tapd |

[
[
4= | s

Options:

4635068251, 1
64535068252, 2
64535068253 2
64535065254, 4

Question Number : 89 Question Id : 64635017373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tt Tl & v s | e o g =t s s arn & qume wr et

1 5

Lk | bt

B

3

I

4

1

4. 5=

4
Options:

64535068251, 1
EAEZS0E8252. 2
EAE35068253. 3
BAE35068254. 4

Question Number : 90 Question Id : 64635017374 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Farakhani gat in trital beging on which of the following marras?

1 First

. Seventh

3. Twelfth

4.  Ninth
Options:

B4535068255. 1
64535068256, 2
E4E535085257. 3
EAEZS0E825E. 4



Question Number : 90 Question Id : 64635017374 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T T, Fare # fm a3 ey e 82

1. el
2.
3. e
4, =6
Options:

E4E35068255. 1
EAE35068256. 2
BAE35068257. 3
E4E35068258. 4

Question Number : 91 Question Id : 64635017375 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

One Palla of Bedam Tihaee from sam to sam in Jhapeal will be of
1 14 Aksharas
2 12 Aksharas
3 T Aksharas

4. 3 Aksharas
Options:
64535063259,
64535063260,
64535063261,
GARRE0EEZEE,

[ N

Question Number : 91 Question Id : 64635017375 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wuae | ww 4 w9 2w e & ue oo g
1 14 H&TF
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Options:

64535068259, 1
EAE3S0E8ZE60. 2
EAE3S0E82E61. 3



EAGEIS0EE262. 4

Question Number : 92 Question Id : 64635017376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The beginning of Udagharta tal has been shown through which one of the following 7

1 Nishkram
2 Vikshep
3 Sannipat
4 Shamya

Options:

4535068263, 1
4535068264, 2
64535068265, o
64535063266, 4

Question Number : 92 Question Id : 64635017376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TEvg a1 e e fon @ g &2
1. Fr=m
2 R
3. wfE
einzii]

4.

Options:

646350638263, 1
E4E3S08E264. 2
64535068265, 5
4535068266, 4

Question Number : 93 Question Id : 64635017377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Dha-Dha -Dha- Dhin Dha -Dhin
Dharrak Dhikit Ghinti Nageen.™

The above composition belongs to which gharana?

1. Delhi

2 Lucknow

3. Ajrada

4. Punjab
Options:
64G35063267. 1
GAR3E06RZEE. 2
64535068269, 3
6435063270, 4

Question Number : 93 Question Id : 64635017377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535068267, 1
4535068268, 2
64535068269, o
64535068270, 4

Question Number : 94 Question Id : 64635017378 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List—I with List-1I :

List-1 List-1I

{Books) (Language)
(2} Tabla Vigyem (i) Gugarar
) Sanpeet Kaladhar (i) Samskreir
(c) Tabla (i) Bengali
(d) Sangeer Sunedava V) Morathi

Select the comect answer from the options given below
L GG (b-iv) (eHi); (ddi)
2 (a)=Qi) (b)=v); (e)=(ii) (d)=@)
30 (a0v) (R () (A0
4 (a)Gu) Gk (v (d)-GE)
Options:
E4E25088271. 1
EABZE0BEE272. 2
EAG35068273. 3
EAG35065274. 4

Question Number : 94 Question Id : 64635017378 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fdi-1 &1 efi-11 3 e Sifay

-1 FEt-11
(&) (uremy
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1 GaGi); (v ded-G); (d)i)
20 (ad=d; (by=0v); (edii) (di=()
3. (vl ()G, (-G, (d)-0)

4 (i) ik (v (d-E)

Options:

64535068271, 1
64535068272, 2
E4E3508E273. 2
E4E3508E274. 4

Question Number : 95 Question Id : 64635017379 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) :  Musical instroments Panav, Fatah, Bheri and Mridang have got
mentions in Valmiki Ramayana

Reason (R) In folk language Panav became Hudukka and Patah became
Dholak

Choase the correct aption:
1. (A)is true but (B) is false
2. (A)is false but (R)is true
a1 (A) and (R) both are troe

4. (A)and (R) both are false

Options:

4635068275, 1
4535068276, 2
64535068277, 2
64535068275, 4

Question Number : 95 Question Id : 64635017379 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

W (A) ¢ TN g T o O, s, 9o ol R At ook v B
O (R) . i i H v 2 g AR e # e E e am
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(A} R (R) T

da W b s

Options:
64635068275, 1
E4E3E0EE27E. 2



EAE3IS0EE277. 3
BAE35068278. 4

Question Number : 96 Question Id : 64635017380 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following books the formation of a evele (chakra) of 32 tihaee in trital
has been shown?

1. Sangeer Ramakar
3. Sangeer Sgroddhar
3. Sangeer Chintaman
4. Sangeer Bodh
Options:
64535063273, 1
64535063280, 2
6435063281, 2

E4BZE0EE252. 4

Question Number : 96 Question Id : 64635017380 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fommer 32 Rl 3 % 1 Foreom o oy 9 R &7
1. o7
2. #Feogwd
4. FfaEyA
Options:
B4AB35083279. 1
E4EZ50B8280. 2
E4E25068281. =
EAG35068282. 4

Question Number : 97 Question Id : 64635017381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

'Pach hazar Nau Sau Kaee tal Kahawar nam Inmen se Solah live Vase Chalto Fam'.
The above mentioned couplet is taken from which of the following books?

1. Savit Sapar
2, Swar Sagar

3. SwarSari

4. Swar Tal Kalgnidhi
Options:
B4AB35083253. 1
E4EZ5088284. 2
EABZ50E8285. 3

BAE3S068286. 4

Question Number : 97 Question Id : 64635017381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535068283, 1
64535063284, 2
4835088285 2
4535065256, 4

Question Number : 98 Question Id : 64635017382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ome avarman Biad of Basant, Khemta and Pashro will fit in one Avaman of which of the
following talas from sam to sam?

1 Faraodast
2 Ganesh
3 Qaid Farodas:

4 Ekwaee

Options:

64535068287, 1
64535068288, 2
E4E35088289. 2
E4E35082290. 4

Question Number : 98 Question Id : 64635017382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fa, ANE AU UNE S UE e fAans B A # e o F 0 amres J 9 F wm andt

.
1. wiEm
2, Tom
I i 2
4.  Toad
Options:

E4535068287. 1
E4E350E8288. 2
EAE3S0E8289. 3
EAE35068230. 4

Question Number : 99 Question Id : 64635017383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Chhand Totak relates to

1 Roopak
. JThaptal
3. Dadra
4. Trinal
Options:

645350682391, 1
EABE3S0E8232. 2
EAE350682393. 3
EAE350682594. 4

Question Number : 99 Question Id : 64635017383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
o e Uy -

1. +wd
2. Twmd
3. ZEOd
4 fama
Options:

645350682391, 1
E4E35085232. 2
EAEZ50E82393. 3
EAE35068294. 4

Question Number : 100 Question Id : 64635017384 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A pecond name for Kertle Diam is
1. Baas Dram
2,  SideDrum
3. Timpani Drum

4 Snare Diram

Options:

64635063295, 1
E4E3S08E296. 2
E4E35088297. 2
4535068298, 4

Question Number : 100 Question Id : 64635017384 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e g W A E
1. =@wEEA
2 TR
3. fearftem
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Options:
E4E535085295.
64535068296,

EAEZS0EEE297.
EAE350682395.

L N

Question Number : 101 Question Id : 64635017385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The mukhda of “Maseet Khani gat” beging with which of the following matras?

1 &

11®= matra
2 12% matra
3 13% matra
4 14% matra

Options:

64635063299, 1
4835082200, 2
4535065201, 5
4535068202, 4

Question Number : 101 Question Id : 64635017385 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
i aHl T F e e @ e A e &
1. 11 #am
L 12 #lam
3 13 dmm

4 14 =

Options:

645350638299,
4835063200,
4535063201,
4535068202,

o IR

Question Number : 102 Question Id : 64635017386 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Di-ng Di-ng takir takin
Dhatrak dhikit kataga digan”

is a part of which composition?

1. Quiida
2. Peshkar
3 Foela
4 Gat
Options:

E4E35068203. 1
64535068204, 2
645350658305, 3
E453508530E. 4

Question Number : 102 Question Id : 64635017386 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
5 1% s 7 afire ol we [l Fam e e T ve @ &7

1. =

. umER

4, ™
Options:

64535068203, 1
64535065304, 2
64535085305, 3
EAEZS0E8206. 4

Question Number : 103 Question Id : 64635017387 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following gharsnae hae 2 tradition of plaving Tanana gar’?
1. Delhi
2 Ajrada
3. Famukhabad
4. Benaras
Options:
E4E35068307. 1
E4AE35068308. 2
64835083309 2
E4B35083310. 4

Question Number : 103 Question Id : 64635017387 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. femh
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Options:

64535068307, 1
64535088308, 2
E4EZ5088209. 3
EAE35068210. 4

Question Number : 104 Question Id : 64635017388 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is not a Hindi woerd?

I Prakar
3. Ekkad
3. Bal
- Laya
Options:

64535068311, 1
E45350E8312. 2
E4E35068213. 3
EAE35068214. 4

Question Number : 104 Question Id : 64635017388 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
et v = o T B

1 HET
1 TFRE

3. =
m

Options:

64635068211, 1
64535068312, 2
64535068213 2
48350838214 4

Question Number : 105 Question 1d : 64635017389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which among the following chaprers of Bharat Bhashyam, there is a description of
talas and tal vadyas?

%
3. 32
4. 3

Options:

64535068315, 1
E4E3506821E6. 2
EAE35068217. 3
EAE35068218. 4

Question Number : 105 Question Id : 64635017389 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e e i P v & v e o ol @ ke 2
1. 30
2. 3
3 32

4. 33

Options:

64635068215, 1
48350883216, 2
4535068217, 5
64535068218, 4

Question Number : 106 Question Id : 64635017390 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Talas have been described in which chapter of Sangeet Ramakar?

I. Fourh

2. Fifth

Sixth

4. Seventh
Options:
E4B35083319. 1
E4EZ5088320. 2
E4E250E8321. =
EAG35058322. 4

Question Number : 106 Question Id : 64635017390 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



gt Tare & few onama  w a als 7

1. Y
2 Ed
B
4. TEe
Options:

B4E535068215. 1
645350658320, 2
64535068321, 3
EABE3S0E8322. 4

Question Number : 107 Question Id : 64635017391 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

After which of the following matras, one Avastan of Biadd Lava theka of Dhamar will
start in the same Taal?

F. =

i 06
Options:

EAE35068223. 1
E4E350682324. 2
645350658325, 3
E4E350E532E. 4

Question Number : 107 Question Id : 64635017391 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TR T O 5 ] TRHTE TT0 A O M 3 A H T T O e e e 7

1 5=

[ ]
fa

Options:

E4E35065323. 1
64535068324, 2
64535068325 2
64535068326, 4

Question Number : 108 Question 1d : 64635017392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the following scientists had done research work on the svahi used on

percussion instruments?

1. C. V. Faman

2. Y Devdas

3. Vikram Sarabhai

4. V.5 Ramakishnan
Options:
64535068327, 1
64535068328, 2
645350638329, 2
48350883220 4

Question Number : 108 Question Id : 64635017392 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
g e @ =ik W s A 3 e fsm o

1. #tdom

X o Tme

3, fiemamEnTg

4. 4w, I
Options:
E4E35065327. 1
64535068328, 2
64535068329, o
645350682330, 4

Question Number : 109 Question 1d : 64635017393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

After which of the following matras, one Avaman of Kuadd Laya theka of Yatishikhar
will start in the same Taal?

i 2
-
36
4 3%

Options:

E4E35088221. 1
EAE35068232. 2
B4E5350682333. 3
645350652334, 4

Question Number : 109 Question 1d : 64635017393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ofifireR o & 5 51 TS T T T AR I A # R A & e ARy g
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Options:

E4E35068231. 1
B4E5350682332. 2
64535068333, 3
E4535065334. 4

Question Number : 110 Question Id : 64635017394 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Asgemtion (A) The use of the term Khali iz found in 2 book titled Saramt-e-
Esharat. This was also called Kal

Feeasan () : Khali hag also been called Khulasa in the boak Nad Fined Granth
Choose the comrect option

1. {A)and (R) both are true

2. (A)and (R) both are false

3 (A)is true bat (B) is false

4. (A)is false and (R) is troe

Options:

645350682335, 1
4835088336, 2
E4E3E08E32327. 2
64535068228, 4

Question Number : 110 Question Id : 64635017394 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i (A) Tl W= F W e wE S T e d e @
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f fae Py
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Options:

48350683351
E4E3E0883236. 2
64535068227, 5
645350682328, 4



Question Number : 111 Question Id : 64635017395 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The instruments described in Sanmpeer Ramaksr as Jhallari and Bhan have been
mentioned in Sangeet Parijat as

1. Dhakka

1. Karchakra
Daraon

4.  Chang

Options:

4835068339, 1
E4E35082240. 2
64535065241, 5
4535068242, 4

Question Number : 111 Question Id : 64635017395 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wifta Tomee o oftfa oot awn v amn =t gt oifeem dEm Esm a

1. EEm
2 FdE
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Options:

E4E35068239. 1
B4E5350858240. 2
64535065341, 3
E4E350E5342. 4

Question Number : 112 Question Id : 64635017396 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mandidakka is a type of instrument of :
1. Ghan
2 Sushir
k] Avanaddha

4 Tatanaddha
Options:
64535063343 1
E4AR3E068344 2
645350658345, 3
G4AG35063346. 4

Question Number : 112 Question Id : 64635017396 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535068243, 1
64535068344, 2
64535068245 o
E4E3508E3246. 4

Question Number : 113 Question 1d : 64635017397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the fq]lnwing p|z:¢! the names of P:.Iduwzi p|.l}'er$ is the zigl:! ﬂeumﬂing
crder of their vear of binh?

1 Parvan Singh, Avedhya Prasad, Ghanshvam Das Pakhavweaji, Kodau Singh
2. Ghanshvam Das Pakhawaji, Parvat Singh, Avodhya Prasad, Kudau Singh
3 Kudan Singh, Ghanshyam Das Pakhawaji, Parvar Singh, Avoedhya Prasad

4. Ayodhyva Prasad, Parvat Singh, Ghanshvam Das Pakhavwaji, Kudau Singh

Options:

4535068247, 1
64535068248, 2
64535068249, =
64535063350 4

Question Number : 113 Question 1d : 64635017397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TETE RS S A ¥ e s e fefRm
1. wda fifg, e v, weream 2 v, e i
2. o ETa e, v R ardhen e, e
3. Tad e owns g vem, v T s wag
4. e ware, T it o T el Few AR

Options:

4535065347, 1
64535068248, 2
64535068249, o
64535068350, 4

Question Number : 114 Question Id : 64635017398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



After which of the following mairas, one Avaman of Kuadd Lava theka of Ekiaal will
stam in the same Taal?

1 3

i | s

i de

i
[
|

4 ot bk
€

Options:

64635068351, 1
E4E35088352. 2
64535065252, 5
645350682354, 4

Question Number : 114 Question Id : 64635017398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535068351, 1
64535068352, 2
483508383532 2
45350838254 4

Question Number : 115 Question Id : 64635017399 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A second name "Choodivan wale’ is suffixed with the name of which of the following
tabla plavers?

1. QadirBakhsh
2. Maula Bakhsh
3. Imam Bakhsh
4. Inam Bakhsh
Options:
645350638355, 1
64535063356, 2
64535063357, 3
64535063358, 4

Question Number : 115 Question Id : 64635017399 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1.  EfEEE
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Options:

64635068355, 1
64535068356, 2
645350638357, 2
4835088358 4

Question Number : 116 Question Id : 64635017400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which table player has received Padmashree Award this vear?
1 Pr. Yogesh Samsi
2 Pi. Suresh Talwadkar
3 Pr. Sweapan Chowdhan

4 Pr. Anindo Chatterjee

Options:

4535065359 1
64535068360, 2
64535068361, o
64535068362, 4

Question Number : 116 Question 1d : 64635017400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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1 o e
2, O Tt
3.0 o e
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Options:

4535065359 1
64535068360, 2
64535068361, o
64535068362, 4

Question Number : 117 Question Id : 64635017401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The meaning of "Tunya’ in Pali language is :
1 Bhand Vadan
2 Pushkar Vadan
3.  Tantri Vgdan

4 Viind Vadan



Options:

64535068363, 1
4835088364, 2
4535088265 2
64535068366, 4

Question Number : 117 Question Id : 64635017401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
aredt v & g wew ad f

1. HEIEA

2 O AR

3. adiEEd

4. gEEEA

Options:
EAEZE0EE3EE.

EAEZS0EE2364,
EAE35068265.
BAE3S068266.

[ N

Question Number : 118 Question 1d : 64635017402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

After which of the following matras, one Avartan of Bizdd Lava theka of kaharava will
$tart in the same Taal?

N
il s

1

i e

= 21

3 3=

|

4. d=
Options:

EAEZS0E8367Y. 1
EAE35068268. 2
EAE350682365. 3
64535065370, 4

Question Number : 118 Question 1d : 64635017402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4dEZ50E8367. 1



EAE3506836E. 2
EAE350682365. 3
BAE35088270. 4

Question Number : 119 Question 1d : 64635017403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Right part of 2 tabla (Dahina) is an instrument in the category of which shape according
to Dr. Lalmani Mishrg?

1. Ardha Yavakriti

2. Ardha Gopuchehha

3 Yavakeini

4. Ardha Haritaki
Options:
64635068371, 1
64535068372, 2
64535068373 2
E4E3508E374. 4

Question Number : 119 Question Id : 64635017403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1. s

2. s
TErEf

3,  wdsfeah

Options:

64535068371, 1
64535068372 2
4835088373 2
64535065274, 4

Question Number : 120 Question Id : 64635017404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The ancient name of Dayara instrument is
1 Tavil
2 Katra
3.  Parah
4. Karchakra

Options:

64535068375,
64535063376,
E4E35063377.
E4E3508837E.

[ Y

Question Number : 120 Question Id : 64635017404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1. ofm
2 @
3 WE
4. TOE

Options:

64635068375, 1
64535068376, 2
64535068377, 2
E4E3S08E37E. 4

Question Number : 121 Question Id : 64635017405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The publication of "Sangeet Vadya Vadan Ank" from Sangeet Karvalav, Hathras took
place in the vear

1 1975
2. 1976
3 1
1 1978

Options:

64535068379, 1
64535068380, 2
645350638381, 2
4835088382 4

Question Number : 121 Question Id : 64635017405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tifte wratern. wuTs w Ei a we e i od A et gam

1. 1975
2 1976
. 1
4. 197§

Options:

645350682379, 1
64535068380, 2
48350883281, 2
E4E3E08E282. 4

Question Number : 122 Question Id : 64635017406 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one ameng the fellowing is not a Persian werd?

1.  EKhalifa

2.  Peuch

3 Chilla

- Ravish
Options:

B4E5350682383. 1
645350658384, 2
645350658385, 3
EAEZS0EE356. 4

Question Number : 122 Question Id : 64635017406 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ETTH T & WS el B

Options:

4635068283, 1
645350682384, 2
64535068385, o
645350683586, 4

Question Number : 123 Question 1d : 64635017407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which ene is a Hindi word from the following?

| Chhand
2. Ekkad
Yat
3 Lava
Options:

64535068387, 1
E4E535088388. 2
EAE350682389. 3
EAE3506823390. 4

Question Number : 123 Question Id : 64635017407 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



1. =
1 UEEs
3. ofy
4 587

Options:

64535068387, 1
E4E3S06838E. 2
EAE350682389. 3
EAE3506823390. 4

Question Number : 124 Question Id : 64635017408 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Dhatitadha titadhadha rirdhage tinagina.”

isa rrpr{un!.‘tti.\:: cnmpnsi!:'nn of which gh.:.r:ml’"

1 Ajrada

2 Lucknow
3 Benaras
4 Drelhi

Options:

64535068291, 1
64535068392, 2
E4E350883292. 2
4535082294 4

Question Number : 124 Question Id : 64635017408 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“arrfereen freanen freear frerfam
ferm ware &t wiefafy e 2

1. W

1 T

3. =RE

4, famht
Options:
64535063391, 1
64535063332, 2
6435068393 3
E4AR3E062394. 4

Question Number : 125 Question Id : 64635017409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



March List=1 with List=II -

List=I Lizn=II
(Gharanas) (Founders)
(a) Delhi (i) Pr. Fam Sahay
(b)  Ajrada (i) Ut Modu Khan and Bakhshu
Fhan
(c) Lucknow (i)  Ue Kalla Khan and Meeru
Khan
(d) Benaras vy Ut Siddhar Khgn

Choose the comect option from those given below
Lo (v () (k) (d-0
2. (il (=) (ek=); (d=0)
3 (0wl Q-G (-0) (G
4 G D, (i), (i)

Options:

64535068295, 1
64535068396, 2
64535063397, 2
48350883298 4

Question Number : 125 Question Id : 64635017409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
- F -1 3 Rm S

qafi-1 FHi-1I

() ()
@y feeedt () U TWEEm
b))  HETE i) = sga o e
(c) TETE i) = Fealdnde =l
() TEE v T.hEme

i fa o Pyt | @ =t oo = 9o S
1 (a)-iv), (oG, () (-0
2. (aHi); (v (e (d-)
30 (v (-G (-GN (dHE)
4. (=) (b)=i) (e)=(i); (d={v)

Options:

4535068295, 1
64535068396, 2
645350683297, 2
645350633298, 4

Question Number : 126 Question 1d : 64635017410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following is written in right ascending order of vears of binh of
mentioned tabla maestros”?

I.  Swami Pagal Das, Famashich Pathak, Vasamras Ghorpadkar, Famiji
Upadhyay

2. Swami Pagal Das, Vasantrao Ghorpadkar, Ramashish Pathak, Famji
Upadhyay

3. Sveami Pagal Das, Vasantrao Ghorpadkar, Ramji Upadhyay, Ramashish
Parhak

4. Vasantrac Ghorpadkar, Swami Pagal Das, Ramji Upadhyay, Ramashish
Pathak

Options:

64535068299, 1
64535063400, 2
48350838401, 2
64535065402, 4

Question Number : 126 Question Id : 64635017410 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e ! @ orwed 3 s il A frf

1. o O, A WEe, T Haset, Tt Jan
2. T O, T MNOn e, T e s, T TmerT
3. T ORI T GG, T g, T T
4, T GO, T SR, T S, Ty oae

Options:

E453505335959. 1

64635063400 2

64835063401 =

E4E25085402. 4

Question Number : 127 Question Id : 64635017411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List—I vath List-II :

List-I Lisz=I1
{Name of (Mame of Tals)
Sandhiz)
(a) WVarun Sandhi i) Nawvral
(b)  Vava Sandhi Gi)  Balirgl
{c) Kuober Sandhi fiii) Kotatarital
(d) Ishan Sandhi (iv)  Takkir tal

Choose the comect option from those given below -
Lo (v (o)) ()G (d)-)
2 (il ()G () (d)-0v)
5.0 Qi) D (- (v
4 Qi) W (i (d-v)
Options:
645350658402, 1
64535063404, 2
64535063405, 3



EAE35068406. 4

Question Number : 127 Question Id : 64635017411 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
-1 w1 11 % it Fif

-1 -1
(ifi & =) (TR AT
(x) wew Y iy T
&) g iy By wfame
(c) FATHRY (i) Freerd T
) SEmA iy vy cReEdam

=t fam T fieet 46 W = =1 909 St
Lo vy HED (S0 (-0
2. (Y GG -0k @)
30 (ar) -Gk (G (@)

4. (k=0 (k=) (el=Qii); (d)={iv)

Options:

64535068403, 1
64535063404, 2
E4E350838405. 2
E4E35082406. 4

Question Number : 128 Question Id : 64635017412 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tambourene is a
1 siring imstrament
. wiid instrument
3 percusion infrument

4 All of the above

Options:

64535068407, 1
64535063408, 2
48350835409 2
64535065410, 4

Question Number : 128 Question Id : 64635017412 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A
1. fengeie
2. P
3. WEEH AT
4. T T

Options:



EAE35068407. 1
645350658408, 2
645350658405, 3
64535065410, 4

Question Number : 129 Question Id : 64635017413 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Iﬁl'hl.l:h e .'ID'I.DDE 1|'."I.' fnﬂnu'i:rs i.& an ATIh‘!E \'\'ﬂ!’d“"

1

¥

4

Options:

Chilla

Pench

Khalifa

Ravish

645350658411, 1
EAE35068412. 2
EAE35068413. 3
EAE350658414. 4

Question Number : 129 Question Id : 64635017413 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

el W e R

1

Options:

fereen
g
i
3t

E4E35068411. 1
EAE35068412. 2
EAE350658413. 3
E4E5350658414. 4

Question Number : 130 Question Id : 64635017414 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List

{a}
)
(<)
(d)

Cheose the comrect option from those given below

1.
%
3

4.

Options:

=1 with List=II
List-I
Avanaddh (i}
Ghan (i)
Sushir (i)
Tantri v}

a0k () (e-Gv) (d-Gi)
(a)-ia); (b)—{iv): (e)Gi); (d)-iE)
()Y ()i (-0 (d)-iv)
(el ) Ced{ivd, (di-id)

List—1I
Adambar
Paveecka
Rarchakza
Jhallani

: MCQ Option Shuffling: No Display Question Number : Yes



E4E35068415. 1
64535068416, 2
B4E5350858417. 3
6453506584158, 4

Question Number : 130 Question Id : 64635017414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
-1 = 11 & g S

-1 HEi-11
) HTE (i) HIEFR
% T Gy =i
(@ Hfir i)  FEw
(d) @il iv) wEedl
= frg o faeet 1 9 w8 oo = e =i

Lo (a0k (HGEY (e-Gvd (d)-Gi)
3 (aidy (v -G ()

(a0 (hGiad (o0 (v
4. Ga)Hak @Gy (e)iv); (d)-i)

Options:

64535068415, 1
64535068416, 2
48350838417 2
4535085418 4

Question Number : 131 Question Id : 64635017415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which lavakar will emerge if a quaida of Pancham Sawar is played in Ekral?

1. Paungun
2. Dedbgun
3. Sawagun

4. Sawadogun
Options:
64535068419, 1
64535063420 2
48350838421, 2
64535065422, 4

Question Number : 131 Question Id : 64635017415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

dan Al F S0 F1 e H 19 o 2 1-9 auer e

1. dE

2. WA

3 wTa[E

4, wmEEE
Options:

B45350658415. 1



EAE35068420. 2
BAE350658421. 3
BAE3506842%. 4

Question Number : 132 Question 1d : 64635017416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The author of the book “Blarar ba Sangeer Siddhant’ is

1. Acharva Brahaspati

2. Acharya Kohal

5. Acharya Panini

4 Thakur liideo Singh
Options:
64535058423 1
64835063424 2
E4B35083425 =2
E4E25088426. 4

Question Number : 132 Question Id : 64635017416 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
w1 whi e e S AT

1 e g

2. e wEm

3. e orfd

4. sEmamafig

Options:

46350658423, 1
64535068424, 2
64535068425 =
64535063426, 4

Question Number : 133 Question 1d : 64635017417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“Yastum Talam na Janati na sa gata na vadakah '

The above mentioned quote is from which of the following beoks?
. Samgesr Darpan
2. Sangeat Pgriigt
3. Nepa Shashpa

4 Sangest Ramakar

Options:

4835063427, 1
E4E35088428. 2
64535068429, o
64535065420, 4



Question Number : 133 Question Id : 64635017417 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T T A T W T A e O% whE ety H fern 7
. e
2. Tty
ENE =

4. o TmEY

Options:

64535068427, 1
E4E35083428. 2
45350832429 2
64535065420, 4

Question Number : 134 Question Id : 64635017418 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The authar of the baok “Tal Chadvika’ is

1. Pr Vidhou Sharma

2. Poluri Govind Matya

3. Gajpati Nasayan Dev

4. Veerupaksha
Options:
E4535053431. 1
E4E25088432. 2
E4E250684335 3
64535055434 4

Question Number : 134 Question Id : 64635017418 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TaTtEe T s aae £
1o fry o
3. TTARiE S a
4. demy

Options:

4835068431, 1
64535065422, 2
64535068422, o
64535065424, 4

Question Number : 135 Question Id : 64635017419 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which lavakan will emerge if 2 quaida of Pancham Sawan is played in Jhaptal from
sam 1o sam’?

1 Paungun
2. Dedhgun
¥,  Paunedogun

4.  Sawadegun

Options:

64635068435, 1
64535068436, 2
64535063437, 2
4835085428 4

Question Number : 135 Question Id : 64635017419 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

dus T & ool F v € w9 wn o e w e woer gl

1. o[

2 R

i, dRETE

4. TNE
Options:

645350658435, 1
EAE3506843E. 2
EAE35068437. 3
EAE350658438. 4

Question Number : 136 Question Id : 64635017420 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
How many shlokas are there in the second pant of Abhinav Taal Manjin?
1 T1

5. 7%

3. 108
4 130
Options:

64535068439, 1
E4E35068440. 2
E4E350658441. 3
EAE350658442. 4

Question Number : 136 Question Id : 64635017420 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
sfir e wedt & fefto e fses wfrs @7
1 71

75

(e b

108
4 120



Options:

64535068439, 1
48350835440 2
4535085441, 2
64535065442, 4

Question Number : 137 Question Id : 64635017421 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which oneis a feminine word in Sanskit?

1. Gat

2 Ang

3. Aaghat

4. Avagraha
Options:

B4E350658443. 1
64535065444, 2
64535065445, 3
E453506544E. 4

: MCQ Option Shuffling : No Display Question Number : Yes

Question Number : 137 Question Id : 64635017421 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g T = R e R

1. T
L am
3. HwE
4. HTEm
Options:

E4E35068443. 1
EAE35068444. 2
E4E350658445. 3
B4535065844E. 4

Question Number : 138 Question Id : 64635017422 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List=1 with List=II

List=I
(Kriyas)
(z) Dhmva i)
(b) Sarpini (ia)
(e} Visarjina (i)
{d) Pataka (i)

List=11
(Characteristics)

Vamgamini
Bahirjata
Urdhvagamanar

Sashabda

Choose the correct option from those given below

1 i) b () (d-0)
2 (a)=(iv) (=i, (e)=(m); (d)={ii)
3. GaH); (b)Y (-G (d)H)

4 (a0 (e)-); (A0

: MCQ Option Shuffling: No Display Question Number : Yes



Options:

64535068447, 1
4835085448, 2
4535085449 =2
64535065450, 4

Question Number : 138 Question Id : 64635017422 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
-1 =t F-11 & it =it

-1 -1l
ifammy (T4
(a) g ) AT
by Gy  afeeta
{c) Fafdm iy — FETEE
(d) o vy Eariei]
i oo Bt £ 3 5 oy e S0

1 (=), (ei=dia); (e)=id); (d)-({)
2.0 () (i) (e ()
3 (e -y, (-0 (d)-0)

4 (a)=); (=il (e)=ud); (d)=(v)

Options:
E4E25085447. 1

E4E35068445. 2
E4E350658445. 3
EAE350658450. 4

Question Number : 139 Question 1d : 64635017423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) - There is a tradition of Padhant (rendering) the composition during
performance in solo tabla playing

Reasan (R) Padhane (Rendering) has its own beanry and it gives unique pleasure
to the audience

Choose the comect angwer
1. {A)is trae bur (B) is false
2. A)and (R)both are false
3. (A)is false and (R} is true
4. (A)and (R} both are true
Options:
64535055451 1
64635063452 2
64535068453 5
64535065454, 4

Question Number : 139 Question Id : 64635017423 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



wfisEE (A) T T TS B ATl (T 1 TR S T e T

i () Tge T M U Aed gl B U od gad | st S 0w
TR M W S e
wt firewn i
L wmaRFgR e

2 (A) R (R S e
() e Foeeg () W B
4. IR E IR

Lad

Options:

64535068451, 1
48350838452 2
4535088452 =2
64535065454, 4

Question Number : 140 Question Id : 64635017424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Dhin= = Dhagen - Dha- = Dhagen Dhatak Ghetak Dindi nagena.”

is a representative composition of which gharana from the followingT

1 Delhi
2 Ajrada
3 Luckmowr

4 Benaras

Options:

64535063455, 1
64535065456, 2
64535068457, o
64535065458, 4

Question Number : 140 Question Id : 64635017424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tiss urm @ s 5 uie anre s B i B o o e v 7
b gt

1. femd ==
2. e
3. mEES
L] T Rd
Options:

E4E35068455. 1
E4E35068456. 2
EAE35068457. 3
64535065458, 4

Sub-Section Number: 2
Sub-Section 1d: 646350836
Question Shuffling Allowed : Yes



Question Id : 64635017425 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension

Direction : Fead the passage given below and angwer the questions (Question Nos. 141 to
145} that follow :

We find a treatize written in Sanskyit in 1639 titled Sanmgeer Fined, In's auther is 56 Anoop
Singh. A total of 126 desi talas have been described in this teatise. There are a few more
talas here which have no mention in Ratnakar. A manuscript written in 1552 has also been
found, which has the same title and written in Sanskrit only. In this very book, the
compositions of percussion instruments used in talas have been called Vadva. The Odiva
manuscripts of the same period have also called the talas based compositions of percussion
instramients as Vadva. Probably the werd Baaj (in the sense of bajana, to play) was denived
from this word Vadva onlv. In the context of tabla plaving the werd Baaj have been is vogue
for the last two cenfuries. The two representative Baaj (plaving sivles) of tabla are popularly
kmowm as Band baaj and Khula baaj respectively.

Delhi gharang is considered to be the representative of Band baaj where as Lucknow gharana
represents the Bhula baaj. They are also called Pachhanh and Paorabi baaj respectively

Later on an acsthetical combination of Band and Khula bagj brought Farmukhabadi tablz inte
existence. In the same manner Ajrada Gharana became very popular with the melodious
sound of Bavan by Delhi and repertoires of Tisra jati.

Hence it may be concluded that great tabla maestros have enriched solo tabla plaving through
their gharanas.

Sub questions

Question Number : 141 Question Id : 64635017426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following iz the temm used for the composition of a percussion
instrument according vo the wrearise called Sangeer Finod written in 15527

1. Baole

2 Panakshar

3. Vama

4. Vadwva
Options:

64535068455, 1
645350658460, 2
4535065461, 3
EAEZS0E84E62. 4

Question Number : 142 Question Id : 64635017427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many deshi talas are described in the Sangeer Finod weatise written in 16397

L. 135
2. 12
3. 127
4. 128

Options:

BAE350684E63. 1
645350658464, 2
645350658465, 3
E453506546E. 4



Question Number : 143 Question Id : 64635017428 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which word is derived from “Vadya'?
1. Gharana
2. Shaily (stvle)
Baaj

4 Vadan

Options:

64535068467, 1
64535068468, 2
64535063469, 2
48350832470, 4

Question Number : 144 Question Id : 64635017429 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Amn zesthetical combination of Band baaj and Khula baaj is found in
1 Drelhi Gharana
2 Ajrada Gharana
3. Famukhabad Gharana

4. Lucknow Gharanma

Options:

64635068471, 1
64535068472, 2
645350638473 2
E4E350685474. 4

Question Number : 145 Question Id : 64635017430 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Compositions of Tisra Jati are used in
1 Ajrada Gharana
2. Delhi Gharana
Lucknow Gharana

4 Famrukhabad Gharana

Options:

4535065475, 1
64535068476, 2
64535068477, o
64535065475, 4

Question Id : 64635017425 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension
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Sub questions

Question Number : 141 Question Id : 64635017426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1552 d ferg i it i A s are el Sl sl S SRa B 7
1. =m
1. WA
E - |
4 o
Options:
46350658459, 1
64535068460, 2

BAE350658461. 3
EAE3506846%. 4

Question Number : 142 Question Id : 64635017427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
1639 # fordy ) aiefhar Pl o Per et ol s o

125
126
127

128

bd

e

Options:

46350658463, 1
64535068464, 2
64535068465 =
64535063466, 4

Question Number : 143 Question 1d : 64635017428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

URT W & H- W Wi g
A

aft
Lir]
T

e lad bd pea

Options:

64535068467, 1
64535068468, 2
48350835469 2
E4E35082470. 4



Question Number : 144 Question Id : 64635017429 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g wra HR g wra iy smm
1, faefamay
2, MEUmWEA
3. TS T
4, mETHETAH

Options:

64535068471, 1
64535063472, 2
E4E35068472. 2
64535065474, 4

Question Number : 145 Question Id : 64635017430 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
firm anfa &t Taenadt = vt g B
1. HEREIWHAHA
. PRefiooad
3, U@ H

4. EFEEE T H

Options:

646350638475, 1
E4E3508E8476. 2
64535065477, 5
64535068478, 4

Sub-Section Number : 3
Sub-Section I1d: 646350837
Question Shuffling Allowed : Yes

Question Id : 64635017431 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehension



Direction : Fead the passage given below and answer the questions (Question Nes. 146 1o
130) thar follow :

“Talstal Pratishethavamiti Dhatordhynh Smrirah.”

It means thar ‘Tal' dbatu becomes tal when suffixed with Ghain. The meaning of tal is to
provide base or to give homour. Tal provides base for the music, hence the Imponance of tal
is self-explanatory.

‘Sur gava vo sar gava, tal gava 1o jaan gayee.
This saving also underlines the importance of sur and tal.

Natyva Shastra has descibed five talas in detadl. It is clear from their formations that
Chachatput tal consists of § matras while Chachput has 6 matras. Udghatta tal has a span of
6 matras, while Shatpitaputrak and Sampakweshtak tal both have 12 matras each. The
characteristic of these ralas are as Follows :

Chachatput = 55| 5 (Guru-Guni-Laghu-Plar)

Chachput = 5H5 (Guru-Laghu-Laghu-Gura)
Sharpitapurrak - 5|85 % (Plur-Laghu-Gur, Guru-Laghu-Pher)
Sampakweshtak - 555855 (Phut-Gune-Gun-Gun-Plat)

Udghamna = 555 (Guru-Gurm-Gur)

In the later period these five talas were called Margi tal. 120 Deesi Talas have been described
in Sangeer Ramakar in addition to these five Margi Talas. Among these 120 Talas the first
one is Aadi tal.

Sharang Deo, by “Aaditalah loke 5o Rasah’ explains that Aadi tal is alse called Ras tal
among the folk people. Agdi tal features with 1, e, one laghu.

Sub questions

Question Number : 146 Question Id : 64635017432 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Sign (lakshan) of Aadi Tal is

I &
5y o
3. O
I
Options:

E4E350684739. 1
E4E350658480. 2
645350658451, 3
E45350658458%. 4

Question Number : 147 Question Id : 64635017433 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following suffixes changes the "Tal’ Dhatu into the word “Tal"?

1. Ld

2 Aa

3. Ghian

4. Ex
Options:

E4E35068453. 1
E4E35068454. 2
E4535068485. 3
64535065456, 4



Question Number : 148 Question Id : 64635017434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

March List=] with Lisc=1I :

Lise=I List=I1
(Tals) (Characteristics)
{a) Chachpue ) S5558%
(b) Chachatput (id) SIS
{c) Sampakweshtak i) 5|585|%
(d) Sharpitapurrak {iv) 55|5

Choose the comect option from those given below :
1L (a0 (=) (ehEi); (d-Gv)
Lo (aiv oGy () (dHi)
30 (a)Ey (R (e (dHE)
4. () (v e-0) (d-(hi)

Options:

E4E350638487. 1
645350654588, 2
64535068489, o
64535065430, 4

Question Number : 149 Question Id : 64635017435 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The another name of Aadital is

i Raam Tal
2 Raag Tal
3 Raaj Tal
4 Faaas Tal
Options:

6453506584391, 1
EAE35068452. 2
EAE350684393. 3
EAE3506584594. 4

Question Number : 150 Question Id : 64635017436 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In raladhyay of Sangeer Ramakar how many Margl and Desi talas have been described
separately?

1 5 and 105
2 5 and 100
3 3and 120

4 %and 120

Options:

64535068495, 1
64535063496, 2
4835083497, 2



EAE350684395. 4

Question Id : 64635017431 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehiension
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Sub questions

Question Number : 146 Question Id : 64635017432 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mg T = Ty [

1. §

2. 1

i 0

Options:

64635068479, 1
64535068480, 2
645350654581, =
E4E350854582. 4

Question Number : 147 Question Id : 64635017433 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
o g & o W & a8 ar e e g 7
1. 7
2
ET: - |
4.
Options:
46350684583, 1
64535068484, 2
64535065485 =
645350654586, 4



Question Number : 148 Question Id : 64635017434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gEt-1 5 gdi-11 & whfte Sifaw .

-1 Hqai-11

(AT} (FF=0)
(2) AR i) 55555
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Options:

64535068487, 1
48350838488, 2
4535085489 2
64535065490, 4

Question Number : 149 Question Id : 64635017435 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
afy A srmam i
1. Twaw
R
3. IAam

4 AT

Options:

645350658491, 1
64535068492, 2
64535065493 =
64535063494, 4

Question Number : 150 Question 1d : 64635017436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“gifta Tt § S Fas anft g fees 2eft anet == Freao armam & sia femmm

#
1, 5SAMI05
2 Sawmi00
3. 3TN0
4 sawmi0
Options:

6453506584395, 1
E4E350684396. 2
EAE35068457. 3
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